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REŠITVE 

 

NALOGA 1:  

old – older – the oldest 

beautiful – more beautiful – the most beautiful 

heavy – heavier – the heaviest 

warm – warmer – the warmest 

good – better – the best 

nice – nicer – the nicest 

flat – flatter – the flattest 

 

NALOGA 2:  

a) 

2. Bluepool is the coldest.  

3. Montello is the wettest.  

4. Bluepool is the farthest from the airport.  

5. The hotel in Montello is the cheapest.  

6. Laguna is the most interesting place.  

7. Montello has got the best food.  

 

b) 

2. Montello is the warmest. 

3. Bluepool is the driest.  

4. Montello is the nearest to the airport. 

5. The hotel in Laguna is the most expensive. 



6. Bluepool is the most boring place. 

7. Laguna has got the worst food.  

 

NALOGA 4: 

1. How high is that hill? It's eight hundred metres high.  

2. How long is this tunnel? It's two kilometres long.  

 

NALOGA 5:  

2. It's cloudy. 

3. It's rainy/It's raining.  

4. It's sunny.  

5. It's snowy/It's snowing.  

6. It's foggy. 

7. It's windy. 

8. It's fine/It's partly cloudy. 

 

NALOGA 6:  

1. the sky 

2. a mountain 

3. the clouds 

4. a hill 

5. a tunnel 

6. a bridge 

7. a forest 

8. a cliff 

9. a river 



10. the sea 

 


